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BUSINESS MATHEMATICS AND STATISTICS — GENERAL
Third Paper
Group - 11
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable
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(Business Statistics)

4, Answer any SIve questions Ve
@ Ifthe GMLOf 1,3, 9, ais 3, find the value of a,
() Find the median : 79, 82, 36, 38, §1, 72, 68, 64, 73,
(¢) Find the standard deviation, when N = 10, Jx=120, Y2 = 1690,
(@) 1f covarance © ~ 40, o, = 8 and o, = 15, find the correlation coeflicient of x and y.
(¢) Find the regression equation of ¥ on x from the following values : ¥ =10, ¥ =15 and b, = 2.50,
() Find Yand ¥, if the regression equations are Sx -2y~ 4 =0 and 7y - dv = 13,
(2) What is an index number? What are its uses?

(h) Name the different components of Time Series.

S, Answer any three questions :

(a) If the mode of the following frequency distribution be 153 em,, find the missing frequency @ 8
Height
(in cm,) 140-145 145-150 150-15§ 155-160 160-165
No. of
students 10 20 is ? 10
() Draw a Histogram of the following frequency distribution of weekly wages : 8

Weekly wages

(in ¥) 300-350 350-400 400-450 450-500 S00-550 S50-600 600-650
No. of
Persons 115 175 220 340 200 120 15

(¢) Find the standard deviation : 8
Class 20-29 30-39 40-49 50-59 60-69
Frequency 5 12 15 20 I8

(d) The ranking of 10 individuals at the start and on the finish of a course of training arc as follows :
Person A Y el ) E F G H 1 J
Beginning | \ 3 9 S 2 7 100 8 4
End 6 8 3 7 2 1 S 9 4 10
Calculate Spearman’s rank correlation coefTicient. 8
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(¢) With the help of a suitable regression line, determine the estimated value of x when y = 22 by using
the following data : 8

x & 4 o5 s SO T o ST
Yol 107 <8t AR G S

6. Answer any two questions :

(a) A student obtained the arithmetic mean and S.D. of 100 observations as 40.1 and § respectively.
It was later found that he copied one observation as 50 wrongly instead of the correct value 40. Find
the correct arithmetic mean and correct S.D. 8

(b) The production of a factory in different years are given below :

Year 2011 2012 2013 2014 2015 2016 2017
Production 40 45 46 42 47 50 46 )
Fit a suitable straight line to the above data by the method of least squares. 8 )
(c) With the data given below, taking 2015 as base year, calculate Paasche’s Price Index Number: 8
2015 2017
Commodity| Price quantity Price quantity
A 2 74 3 82
B 5 122 4 140
C il 40 6 33
(d) Find the general cost of living index from the following data : 8
Class Food Dress  House rent Fuel Misc.
Class Index 620 575 325 255 280
Weight 30 20 25 15 10




LOD)-Sup.-Information Tech.ete.-G-1
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INFORMATION TECHNOLOGY AND
ITS APPLICATION IN BUSINESS - GENERAL
First Paper
(C-21-(5)
Full Marks : 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A
1. (a) What is byte?
(b) What do you understand by DMBS?
Or,
Define Foreign Key.
(¢) What is HTML?
(d) What is Intranet?
Or,
What is TELNET?
(¢) What is Spam?
Or,

What is Firewall?
Group - B
2. Find out the Binary equivalent of the following decimal numbers :

(a) (246)9 = (7
(b) (11001), + (10110), = (?),

3. Write short note on Digital Signature.
Or,

Write short note on Digital Envelope.

o
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Growp - ¢
Discuss the impact of informaion ehnology on sookety and dusiness.
Dastinguarsh dharwoon ¢

(@) Hardware and Software
(D) Nyatom softnare and Applcation software,
Or,
Brrefly desonbe the components of Digital Compaiter,

(a) Explam the rerm 'Freld’ and *Recond” in relation to DRMS,

(M) How do you differentiate Tradittonal File Orgamisation with Database File Organisation?
Or,

(@) Give an wdea of Data warchousing.

M) What do you understand by Real Tune Data Processing? Give example.

(€) Explan the term ‘Table” in relation to DRMS.

Wrnite notes on @
(2) Router

(M LAN

(¢) Ring Topology
(d) Gateway.

nd
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2018

E-COMMERCE
Second Paper
Module-I1
(C-22-G)

Full Marks : 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group-A

. (a) What do you mean by mobile commerce?

o

Or,
Give two examples of E-Commerce. 2
(b) What is Responsive Supply Chain? 2
(c) Mention two advantages of dabit card. 2
Or,
What do you mean by e-payment? )
(d) Mention two components of E-Supply Chain Planning. D
(e) What is ERP? 2
Or,
Identify two major characteristics of ERP. 2
n
I
Group-B ’
. What do you mean by Internet? Discuss its relation to E-Business. 4
Or, i
Distinguish between E-Commerce and E-Business. 4 “
|
. Discuss the benefits of Core Banking Solution (CBS). 4
Or,
What do you mean by Digital Wallet? Write short note on store value card. 242
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| L(T1)-Sup.-E-Commerce-G-2(Mod.~II) (c-zz-G;] (2)
4. Discuss the advantages of B to C E-Commerce model.
} 5. Discuss the process of E-Supply Chain Fusion (Process).
Grou-C
6. (a) Discuss the major activities of B to B E-Commerce model.
(b) Write short notes on :
(1) e-tailer
(i) Transaction broker.
Or,
Discuss the benefits and problems of B to G E-Commerce process.
7. Discuss the modules of ERP.
8. What is e-market place? Discuss the goals of E-CRM business framework.

Or,

Discuss the functional components of E-CRM process.

2+2

4+4

2+6
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BUSINESS ECONOMICS AND BUSINESS ENVIRONMENT — GENERAL

>

2

Second Paper
Full Marks : 100

Candidates are required to give their answers in their own words

as far as practicable.
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[English Version|
The figures in the margin indicate full marks.

Group-A

1. Answer any six questions :
(a) What is meant by ‘utility’?
(b) What is price effect?
(¢) Define an indifference curve.
(d) State the law of diminishing returns.
(¢) Write down the law of supply.
(f) What is the shape of average fixed cost (AFC) curve?
(g) What are the profit maximizing conditions of a firm?
(h) What is ‘quasi rent’?
(i) What do you mean by normal profit?
(j) What do you mean by ‘Break-even point’?

2. Answer any four questions :
(a) What is demand? Discuss the factors influencing demand.

(b) What is an isoquant curve? Discuss the characteristics of this curve.

v+
b+

“~1
P

276

2+6
2+6

(c) What is income consumption curve? What is the shape of income-consumption curve, if ( 1) both the

goods are normal? (ii) any one of the two goods is an inferior good? 2+3+3

(d) (i) Distinguish between fixed and variable cost of firm.
(i) What is the reason behind the U-shape of a firm’s short-run average cost curve? 4+4
(¢) ‘Derive the short-run supply curve of a firm under perfectly competitive market. 8
(f) Analyse the Cournot model of price determination under oligopoly. 8
() Discuss risk and uncertainty bearing theories of profit. 8
8

(h) Discuss the marginal productivity theory of determination of wage.
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3.

h

Answer any one question :

(a) What is price discrimination under monopoly? When is it possible? How does this kind Ofmo';(ﬁo”lso'
+

attain equilibrium?
(b) Write down the four factors on which price-elasticity of dem.and depends—. (;IIVC the definition of
average revenue and marginal revenue. Derive the relationship between marginal revenue, average
revenue and price elasticity of demand. 4+2+2+8

(c) (i) What is transfer earning? What is the value of economic rent when transfer earning is zero?

(i) Show that there can be rent element in the income of all inputs. (2+4)+10
Group-B
Answer any four questions : 2

(a) What is meant by business environment?

(b) What is ‘per capita income’?

(¢) What is ‘disguised unemployment’?

(d) What is ‘land reform’?

(e) Mention two problems of Indian agricultural credit.

(f) What is black money?

(g) What is meant by sectoral composition of national income of India?

(h) Mention the names of two export and two import goods of India.

Answer any wo qucsliuns .

(a) Discuss briefly the trends in India’s National Income during the Five Year Plans. 8
(b) What is industrial sickness? Discuss the causes of industrial sickness in India. 2+6
(¢) Discuss the objectives and functions of the World Bank. 8

(d) What is meant by ‘vicious circle of poverty’? Mention few steps taken by the Government of India
to curb the incidence of poverty. 2+6
Answer any one question :

(a) Discuss the causes of low productivity in Indian agriculture. What measures have been taken to
tackle this problem? 8+8

(b) Discuss the achievements and failures of India’s Five Year Plans. 8+8

(¢) Examine the role of foreign trade in economic growth. 16
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PRINCIPLES OF MARKETING - GENERAL
Second Paper
(C-22-G)
(Module - T)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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| English Version |
The figures in the margin indicate full marks.

Group - A
2x5

1. (a) Define marketing mix.



(3)
Group - B

L (II) - Sup.-Principles of Marketing-G-2
(Mod. -1)(C-22-G)

2. (a) Discuss the steps involved in personal selling. ax4
(b) Describe the objectives of logistics management.
Or,
Describe the elements of marketing mix.
(c) Distinguish between marketing and selling.
(d) Write a note on ‘product development process’.
Or,

Write a note on ‘pricing of a product’.

Group - C
(a) State the role of marketing research. 6x4
Or,
State the role of packaging in marketing of products.
(b) Discuss any two bases of market segmentation with examples.
(c) Explain the stages of product life cycle.
Or,
Explain the new trend of retail marketing in India.

(d) Describe the different types of marketing channels.
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FINANCIAL ACCOUNTING-II - GENERAL
Third Paper
|C-23-G]
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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21 A, B @R C 93 SeimifR eifeima sieiivg e aire @t 2:2: 1 Seoi1te ©19 03 7@ 131.03.2018
wifar o121 afediaa SR Frare @1, @ e 2feRima Balance Sheet fsansl ¢

Liabilities T Assets kY
Capital Accounts : Sundry Assets 94,000
A 50,000 | Cash 6,000
B 25,000 [ Capital Account : C 2,000
Creditors 27,000
1,02,000 1,02,000
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Additional information :

@) Sundry Assets XY 90,000 *NeT =

(® Creditors-GR T 26,000-¢ ool pciect

(%) Realisation Expenses-&3 s ¥ 2,000
AR T TT & OR estate N 60% T T EfOreS ANeT IN|

® C
¥2 I (i) Realisation Account (ii) Cash Account €3¢ (iii) Capital Account 2iF® 3z o
Synthetic method-€ = SRR 7 SR e T =y, @ I 3

TR
e s SR ST N 25% GO 3 (R T TR TR <1 SRR <1 | R M O o Sales

Lui-crr=~tr~<r«wr\ﬂ%@'wﬁmwmlwmmwﬁﬂa@uﬁmm 33
SeRRe Towe Sow R a0 e SR 0 31.12.2018 St e 3<97sE @ Branch Trading and

Profit & Loss Account 2efR =731 ¢ o
T 3

Stock as on 01.01.2018 25.000 Allowances to customers 550
Goods sent to Branch 45,000 Cheques sent to Branch :

Goods returmed to HO 6,500 Rent 400
Credit Sales 22,750 Salaries and other expenses 1,000
Cash Sales 7.500 Misc. income 750
Bad Debts 700 Stock as on 31.12.2018 30,000

1.1.2016 =2 French Motor Company (9% ST & #%f$3 M4 Z 936 Motor Car & 394 | #13d
=¥ 01.01.2016 R T 20,000 down payment €32 1% T11,000 (@10% p.a. T2) ¥ feafs
TRT R 9vw) =wrws R+t @ 10% per annum IR TR 4 =1 Z-937 320@ 314
December, 2016 == 2018 ©Iffte o5 267 %5 7233 (i) Motor Car Account and (ii) French Motor

Company Account &S 30311 so
o,

(@) "o = e ¢ R I ol Jene quwr ¢
) T .
Column A Column B

1| "Sw@ 1 Al F

2 | e 3= oefere sfeem zore” B | YEewereE I

3 | ST = {0V AW S SRRE W [ C [ FW LT +

4 | oo =% R Sy &R avR w™ | D | 29w Ff gwm wwa
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(3) [l. (1) = Sup. - Financial Accounting-11-G-3/(C '-2.!-(.")J

ferufnfare wrua Bora fefa ata X (Cloth Department) @4t Y (Tailoring Department) faetra «af fasiéi
elfobiea 31,12,2018 wiface 719 201044 w1 Departmental Trading and Profit & Loss Account 2efa
atat Dept, X =G tefaa @19y @an(tzn Dept. Y- @ saaare a2

Particulars

Department X (%) Department Y (3)
(Cloth Dept) (Tailoring Dept)
Opening Stock (1.1.2018) 3,00,000 50,000
Purchase (from outside supplier) 9,50,000 5,000
Sale (1o outside customers) 10,50,000 3,50,000
Closing Stock (31.12.2018) 1,75,000 75,000
T (C LT

(@) Dept. Y @ Dept. X T 2,50,000 &3t#1a #12(@ Saaaie acare |
(4) Tailoring Expenses -2 #faa4 2 60,000 |

(1) Selling Expenses a2 #fae T 14,000 (fae1#iy fafea “fanraa fefares abaznay) |

(@) ‘A% certa’ wae ‘caram caa’ aAre B caran ¢

(*) @M Investment Account -4 #era faforas zatay (9+9)+8

],

Mr. X-42 @it 01.01.2018 @ifacy 200 5 10% Debenture (F.V. 2 100) =fefs @ 2110 =iz, a2 Soa
elfsawa 31st December wifaty s gum | frwfafre @mmaefs Sfate ol 7w 2

01.04.2018 300 Debentures cum-interest (@ 2 106-c% &7 @41 231 |
01.08.2018 250 Debentures ex-interest (@ ¥ 108-0% &7 %4l 27|
01.09.2018 300 Debentures cum-interest @ % 111-c% faga @21 23|

FIFO #wfers @f fa@ta profivloss «ax wifafée #ffaa senma @ta Mr. X 99 4219 Investment Account
tefa @t

so
1st January 2018, X Ltd. «f%fb 2 500-492 2500 10% Debenture 5212 fafera Bz a1 Debenture
holder- 2 Zvara 2(fefb Debenture, 12% Preference Share (2 100 5jtz1a 25 5 fetfimnpiz)-«a wefreararay |
31.12.2018 wifara @ auraa wfefs 34 #(farfas zz | @@ Debenture holder @ra @1z 120 5 Debentures

funt, TAfa®% 12% Preference Share-a #eraa 2wz 2@ aae| X Ltd.-493 @itamics 01.01.2018 <

31.12.2018 wifataa geaneet wieez Gfeas sca | so

Please Turn Over




M D~ Swp - nh..-mf «\Wumucu.n (4)

N —

¥l

R - o

SRT Ltd. &% T 100 w52 20000 B TR onwre 109 Rt s R 8 Wl SR o) sy
DR R — S -ey SR e S0 ofd ovee ) v a (A 30 €40 of ot aw ol B ey
e vy RfYne)

20000 VT T WHRNT T T, T N0 6000 SITWswrad Dy (S0 & 8§ SAIAE WITWE ooy
TN R - )

SW € Y N T 3000 ORI DN e |1 vewy W w0 W)
TR T oTEE (VTR 2000 R ove ot € 05 e o (fully paid) TR e RE w0 W)

SRT Ltd.-€3 Q¢ SNy wike oras | e
REY oI & D1 @ FER IO N N Qe sy wikmel oo | O+8+)
¥

Dantewar Limited-e3 af¥f ¥ 10 302 40000 @ 15% sRovwasy e oro RIS s wing o
ooRefE ot T 10 W «Rre s sy wew )| es @} Refite e e Rrre {ie ey
“_

(1 20000 Equity Shares of ¥ 10 each at par.

(@) 10000 15% Debentures of T 10 each at par.

R e RE @ o o« siew 1wy

@refag TR of{a g s ) s crref sty =

Dantewar Limited-93 I3T® O W ERHHY SIAR WS e | @

| English Version |

The figures in the margin indicate full marks.

Group - A
(a) Pass Journal Entry for “Expenses of Dissolution™ at the time of Dissolution of a Firm. 2x§
Or
Pass Journal Entry for “Liability taken over by a partner™ at the time of Dissolution of a Firm.
(b) What is the decision in “Gamner vs. Murray™?
(¢) Why is “Branch Stock Adjustment Account” prepared?
Or
Why is the purpose of invoicing goods to the Branch at Selling Price?



() [L (1) - Sup. - Financial A ccolmling-ll—G-J/(C-ZJ-G)J

(d) Write short note on Hire Purchase System.
Or

Is there any difference between sale on Hire Purchase basis and sale on Sale or Return basis?

(e) Is there any difference between Branch and Department?

Group - B

2. The following is the Balance Sheet of A, B and C sharing profits in the ratio 2:2:1. They decide to
dissolve their firm on 31.03.2018, the date on which the Balance Sheet stood as follows :

Liabilities T Assets S
Capital Accounts : Sundry Assets 94,000
A 50,000 | Cash 6,000
B 25,000 | Capital Account : C 2,000
Creditors 27,000
1,02,000 1,02,000

Additional Information :
(1) Sundry Assets realized T 90,000.
(i) Creditors accepted ¥ 26,000 in full settlement.
(i) Realisation Expenses amount to ¥ 2,000.

(iv) C was insolvent and a final dividend of 60% was received from his estate.
Show (i) Realisation Account, (ii) Cash Account and (iii) Capital Account in the books of

the firm. 10
3. State how profit of a branch can be ascertained under Synthetic method. 10
Or

A Kolkata trader has a branch at Thrissur to which he charges the goods at cost plus 25%. The
Thrissur Branch keeps its own sales ledger and transmits all cash received to the HO everyday. All

expenses are paid by HO.
The transactions for the year ended 31.12.2018 of the Branch were as follows :

T 3
Stock as on 01.01.2018 25,000  Allowances to customers 550
Goods sent to Branch 45,000  Cheques sent to Branch :
Goods returned to HO 6,500 Rent 400
Credit Sales 22,750 Salaries and other expenses 1,000
Cash Sales 7,500  Misc. income 750
Bad Debts 700  Stock as on 31.12.2018 30,000
Prepare Branch Trading and Profit & Loss A/c for the year ended 31.12.2018 in the HO books.

10

Please Turn Over




M]l} - Sup. - Financial Accounting-11-G-3/(C: -23-@ (6)

4. On 01.01.2016. Z Purchased a motor car from French Motor Co. on hire purchase system. The terms
were that they would pay ¥ 20,000 down on 01.01.2016 and the rest in three equal annual instalments
amounting of ¥ 11,000 (which includes interest @ 10% p.a.) each. Depreciation was to be provided

(@10% per annum on the reducing balances.
Prepare (i) Motor Car Account and (ii) French Motor Co. Account in the books of Z for the year
ended 31st December, 2016 to 2018, 10
Or
(a) Distinguish between “Hire Purchase System™ and “Instalment Payment System”™. 6
(b) Match the following : 4
=0 i ;;_‘T'Ghnmn A Column B
1| Hire Purchase Price A | Interest

2 | Transfer of ownership under Instalment | B | Capital expenditure
Payment System

3| Excess of HP Price over Cash Price C | Cash Price + Interest

Purchase System

\

|

4 | Payment towards Cash Price in Hire D | With the payment of first instalment
:

5. A firm has two departments ; X (Cloth Department) and Y (Tailoring Department). Tailoring department
receives cloth from Cloth Department for making of shirts. Department X supplied the said goods to Y
at cost price.

Prepare Departmental Trading and Profit & Loss Account for the year ended 31.12.2018 from the
following particulars,

Particulars Department X () Department Y (2)
(Cloth Dept) (Tailoring Dept)
Opening Stock (01.01.2018) 3,00,000 50,000
Purchase (from outside supplier) 9,50,000 5,000
Sale (10 outside customers) 10,50,000 3,50,000
Closing Stock (31.12.2018) 1,75,000 75,000

Following further details are given :
(a) Goods transferred from Department X to Department Y ¥ 2,50,000 at cost.
(b) Tailoring Expenses amounted to ¥ 60,000.

(¢c) Selling Expenses amount to ¥ 14,000 (to be apportioned on the basis of sales of respective department.
10



0.

(7) L (1) = Sup. « Financlal Accounting-11-G-3/( ’-2.‘-(.')]
() What are Right Shares” and *Bonus Shares'?
() How do you treat them in Investment Account? (313)14
Or,

Mr. X furnishes the following details of his holding in 10% debentures as
01.01.2018 Mr. X holds 200, 10% Debentures of €110 each (Face Value of Rs.100)
Interest on debentures was payable on 318t December every year,

On 01,04 2018 Bought 300 Debentures cum-interest @ € 106

On 01082018 Bought 250 Debentures ex-interest @ ¥ 108

On 01,09.2018Sold 300 Debentures cum-interest (@ € 111

Make out the Investment Account in the books of Mr, X applying FIFO method for calculating Profit or
Loss on Sale and valuing stock of unsold investments. 10

On st January 2018 X Ltd. issued 2500, 10% Debentures of T 500 each at par Debenture holders had
an option to convert their holdings into 12%. Preference Shares of € 100 each at a premium of T 25 per
share, On 31.12.2018, one year's interest had accrued on these debentures and fully paid. A holder of
120 Debentures notified his intention to convert his holding into 12% Preference Shares. Pass Journal
entries in the books of X Ltd, on 01.01.2018 and on 31,12.2018 10

Group - C

SRT Litd. invited application for 20,000 Equity shares of® ¥ 100 each at a premium of 10% payable as :
On application ¥ 50 per share, On allotment ¥ 40 per share (including premium) and the balance on first
and final call.

Application were received on 26000 shares and application money for 6000 shares were refunded.
Allotment was made in full, on all other applications.

All money due was received except the first and final call on 3,000 shares which were forfeited. Out of
these forfeited shares 2000 shares were reissued at ¥ 95 cach as fully paid up.

Pass journal entries in the books of SRT Ltd. 15

What is buy back of shares? What are the possible reasons for buy back? Give journal entries in this

respect, 3448
Or,

Dantewar Limited has 40,000 15% Redeemable Preference Shares of ¥ 10 cach fully paid up. These

shares are due for redemption at a premium of ¥ 10 each, The company decided to issue the following.

(i) 20000 Equity Shares of ¥ 10 cach at par.

(i) 10000 15% Debentures of ¥ 10 each at par,

The issue was fully subscribed and all the amounts were received in full,

The company had sufficient profits.

Redemption of preference shares was duly made.

Show journal entries in the books of Dantewar Limited to record the above transactions. 15
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2018

BLSINESS ( OMMUNICATION - GENERAL
First Paper
(GE-2.1Chg)
Module - 11
Full Marks : 40

Ihe tivires in the margin indicate full marks.

Conndidares are required to give their answers in their own vwords
as far as practicable.

I Lot s meant by communication ' When a communication is call

" communication trom different viewpoints.

Or,

yiscuss the barriers

A hat role does communication play in resolving conflicts?

3. What is Grapevine ( ommunication’
or,

W hat do you mean by communication netw

network.

4. “With the increasing use of modern communicatio
(he statement with suitable examples.

5. Draft the minutes of the first Board Meeting of New Print Co. Ltd.

£ Dirafi » OV with cover letter for appointment as a marketing trainee in a |1

) How can such communication be made effective?

ork? Describe briefly the importance of corporaie

ed a business communication?

(o)
4

communication
244

ntools, the world seems 10 be @ global village.” Justify

0

V)

1. Comnanv 10
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COST AND MANAGEMENT ACCOUNTING-I - GENERAL
(CC2.1Cp)
Full Marks : 80
Candidates are required to give their answers in their ovwn words

as far as practicable.
ARG Hexg1ofer spfira fgirm |

fawr - @

fefafve eprefim Boq me o

(¢) offFam foqa 414y ALY &) caran ¢ Afaary e VI -0 1Al Srzmpy Sl il 48
e,
“fer @Eite @ iy ARy @ e e gataE T A 5 a7 S 3+9

M XA Beeflne 310619 2017 11 15 M1 Fafeifie eepofe saaar ana | 2fiam 4444 A B4l 992

S NG A Felf R I | (FIFO A%f® @il @
0§
Raw Matenals Consumed 30,000
Direct Wages 18,000
Machine hours worked 1,800
Machine hour rate )
Administrative overheads 20% of works cost
Selling overheads 50) paise per unit
Units produced 34,200
Units sold 32,000 units @ 3 4 per unit

(®) fasfafie frpeline e +fdam e 3, o Sy o
(&) MBLea Aweard ey
(1) UBAAAG eledd] %7
@) e AgEI) AeH
() fasfafie Masfne aeme 9 awed @ e
(w) “ffgze e
(@) =fe=sn Teamad sz o943

Please Turn Over
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| J(2nd Sm.)-Cost and Mymt. Accounting-1-CC2.1Cg l (2)

81 WE N Qoo O e Hfaan e e Nerea Rravar am aae 0
LA
RS B (U afies b el e uh! g arfed sefd (AP o16ut & Rowan Plan i) faefy
I e Lty
Basic wages rate per hour T 50

Time allowed for the job 16 hours

Time taken for the job 12 hours

et - @

@\

Y|

RsfiRe eofig Saa we ¢

fsfrRe v (e P K Traders-a4 (LIFO &% Seuiilt) 40694 2017-93 Stores Ledper Account #gO
IS SO
2017

November | Opening balance 1,000 units

November 9 Received 500 units @ ¥ 7 per unit
November 172 Issued 1,200 units
November 21 Received 1,000 units @ ¥ 8 per unit
November 30 Issued 1,100 units
[On 30th November, 2017 a shortage of 50 units was found.]
G,
AW ATPL ARC fqugas @y LOQ e Q) @@y Bin Card 8 Stores Ledger-< ey w1y 9

VERVERGH

sifarary Rot1a S YARel 2@l ¢ 45,200; AR @ i f@irtes et fsforfue eyl e oo @

Cost Kinancial
Accounts Accounts
T 4
(#) Opening stock of Raw Materials 12,900 14,100
(%) Opening stock of Work m Progress 7,000 1,900
() Closing stock of Raw Materials 15,000 14,200
(4) Closing stock of Work in Progress 6,500 ' 6,100

(8) Closing stock of Finished Goods 7,500 #,500



(S [J(Zm! Sm)-Costand Mamt. Accounting-1-CC2, ICEJ

() Directons fees pand @ 1,300 and Dividend received 300 are exclusively taken in Financial Accounts,
but ignored m Lost Accounts,

(23 Remt charged in Cost Accounts but not i Financtal Accounts ¥ <800 G
(8 Prelmumany expenses watten oft' 2,750, but not charged in Cost Accounts,

() Overhead chareed i Financial Accounts ¥ 22,000 but recovered in Cost Accounts X 25,000,
v fared) el e e wiftle e wyd e Ry s 29

R

\BC Co. Ltd -9 808 2017-9 ReRie @mmme wwuibe mu (siftam fargs s ) «fw@m
a3-0 swwwefEe wraw wiken ore o

N
Materials purchased for stores 23,000
Materials purchased for direct issue 4000
AMaterials issued for production 23,700
Factory overhead absorbed 3,000 : ¢
Admimstration overhead absorbed 1.800 Y0

D (@) -0 2018 SR T @ eprep e pReR fRiRie wiefi S Lid a8 9 i e oo &

3
Contract price 3.00,000
Work cerutied 2.00,000
Estimated cost of completion of contract 2.40.000
Cash received 1.60.000
Uncertuified work 14.000
190,000

Cost of contract (expenditure upto 31.03.18)
31,0318 ©fems o 2T TLEE Profit & Loss A/c- (RITATE @i sarata wifenel faefa st ¢

{5 ) wEwa & 0@ FE 200-0 @@ TR FAT AR | HYITE T 2 -4 90T D Bd e 3 DI
e @2 v Sewwa e w20 ffRG)
Srafeie wafone a9 wgfe W }Te 274 2

(@) i v, (@) g g feorepe arifefes 29




l Jnd Sm.)-Cost and Mgmt. Accounting 1 CCLICy

fafEie eolaa Gag vie &

vl Larika Co. @4 f@af0 Gesiva fawial

% ¢

Rent

Indirect Wages

llectricity
Additional information
Light ponts (Nos)
Floor space (sq 1)
HiR

No. ol workers

of machine

Direct wages ()
Cost of machine (¥)

Working days

Service rendered by service departiment S 1o production departments A, Boand C 15

respectively

(1)

fawrar - o

¢
16,000
5,200
5,600
A
/
300
65
2
12,000
50,000

200 days of 8 hours each,

Power
Depreciation on machinery

Canfeen expenses

aAfof Berua fawresra wer «lo #s e foefar ear |

A, B, C e e orar fawl

13
U
250
30
3
14,000
60,000

S w12 WieAa vyl Ay 494

8,250
)7 000
6,500)
(& 1)
9
450 ()
30 4()
O )
14,000 #,000
80,000 10,000

0%, 20% and 50%

51 @afd gy 4o elftrr P g Qi A Gesifite @) A wapofer ey g Process P Ale, Process ()
Alc @ag Normal Loss A/c “ge el

Materials
I.abou
Overheads
Input (units)
Normal loss
Serap value

Output (units)

Process P

R

(0,000
20,000
14,000
40,000
10%
<)
35,000

There was no opening or closing work in progress.

’ (#) Operating Costing iy uigare A @ Al QaTed A HIG | TR

LA

)14

Process ()
s
(6,000

24,000
17,200
35,000

4%
'
34,000




3. (a) Mention the appropriate meth

4. What do you mean by Idle time? How is it treated in cost accounting?

(5) l J(2nd Sm.)-Cost and Mgmt. Accmmling-l—CCZ.IC'gJ

Q)] M[. Sen AN Tempo #fdazs a1ty fanfers ) frafafie seefrm ey 4fS fapcerfaibra @z g,
sifaam faefu @can 53

Cost of Vehicle 2 4,50,000; Road licence fee ¥ 1,500 p.a.; Supervisor's salary per year % 30,000;
Driver's wages per hour ¥ 40; Cost of fuel per litre T 36; Tyre cost per km. € 16.

| English Version |
Candidates are required to give their answers in their own words

as far as practicable.

The figures in the margin indicate full marks.

Group - A
Answer the following questions.
What do you mean by Cost Accounting? Mention any four objectives of Cost Accounting, 1+4
Or,
What do you mean by Costing? What are the differences between Cost Centre and Cost Unit? 24

Mr. X furnishes the following data relating to the manufacture of a product during the month of March,

2017. Preparc a Cost Sheet and also ascertain value of closing stock under FIFO method. 5
T
Raw Materials Consumed 30,000
Direct Wages 18,000
Machine hours worked 1,800
5

Machine hour rate
20% of works cost

50 paise per unit
Units produced 34,200
Units sold 32,000 units @ ¥ 4 per unit

Administrative overhcads
Selling overheads

od of Costing suitable for the following industrics :
(i) Bi-cycle manufacturing
(i) Furniture making
(i) Toy manufacturing
(b) Name the appropriate cost unit suitable for the following industries.
(i) Transport industry

(i) Power manufacturing industry 312

243




p G R gl
J(2nd Sm.)-Cost and Mgmt. Accounting-1-CC2.1Cg l (6)
Or,

and the effective hourly rate of wages where
4+

From the following details calculate total earnings of a worker

bonus is paid under Rowan plan :
Basic wages rate per hour ¥ 30

Time allowed for the job 16 hours
Time taken for the job 12 hours
Group - B

Answer the following questions.
5. Fromthe followng particulars prepare a Stores Ledger Accountof P K Traders for the month of November,
' 10

2017 under LIFO basis ©
2017

November 1 Ope
Received S00 units @37 per unit

ping balance 1,000 units

November 9
Jssued 1,200 units

November 12
Received 1,000 units (@ ¥ 8 per unit

November 21

November 30 lssued 1,100 units

2017 a shortage of 50 units was found.)

(On 30th Novembut,
Or,

tween Bin

EOQ? What arc the distinction be
34314

What is ABC analysis of inventory? What do you mean by

Card and Stores Ledger?

of the

6. The profit as per Cost Accounts is 2 45,200. The following details arc ascertaingd on comparison

- (e) Closing stock of Fimshed Goods
d received T 500 are exclusively taken in Financial Accounts

) Directors fees paid € 1,500 and Dividen

ignored in Cost Accounts.
{ lnCust Accounts but not in Financial Accounts 2 4,800,

‘_I Cost and Financial accounts -
] Cost Financial
*‘ Accounts Accounts
‘; : 4 ¢
E (a) Opening stock of Raw Materials 12,900 14,100 |
(b) Opening Stock of Work in Progress 7,000 7,900
(c) Closing stock of Raw Materials 15,000 14,200
(d) Closing, stock of Work in Progress 6,500 6,100
7,500 8,500
|



(7) J(2nd Sm.)-Cost and Mgm. ,4rcmmling—l—CC2-1(«'.!'.'

(h) Preliminary expens - - :
inary expenses written off ¥ 2,750, but not charged in Cost Accounts.
(i) Overhead charged in Financi
d charged in Financial Accounts X 22.000 but recovered in Cost Accounts % 25,000.
Prepare a Reconciliation s
pare a Reconciliation statement and also find out profit as per Financial Accounts. 10

Or,
ber, 2017 of ABC Co [.td. Youare required

The following transactions took place for the month of Decem
] accounting system) :

to enter the transactions in the Cost books (under cost contro

3
Materials purchased for stores 25.000
Materials purchased for direct issue 4,000
Materials issued for production 23,700
Factory overhead absorbed 3,000
1.800

Administration Overhead absorbed
7. (a) S Lud. has supplied the following information in respect of a incomplete contract as on 31st March,

J=

2018 :
E4

Contract price 3,00,000
Work certified 2,00,000
Estimated cost of completion of contract 2,40,000
Cash received 1,60,000
Uncertified work 14,000

1,90,000

diture upto 31 .03.18)

Cost of contract (expen
d to Profit & Loss A/c for the year endec

Calculate the profit to be carrie
rs a worker can produce
ted time to produce an article i
he following methods :

1 31.03.2018 5

i (b) During a week of 44 hou 200 articles and receives wages al the rate of
% 3 per hours. The estima
Calculate his gross Wages under t
(i) Time Rate
(ii) Piece Rate with guaranteed Time Rate. (243)

s 20 minutes.

Group - C
Answer the following questions.

8. Larika Co. has three production departments A, B. C and one service dep
period of 12 months are given below :

artment S. Expenses for the

is. 3 z
Rent 3.600 Power 8250
Indirect Wages 5,200 Depreciation on machinary 22,000

Electricity 5,600 Canteen expenses 6,500




| J(3nd 3
R &-J—Cmndugz:t. Accounting-I-CC.1Cg ' (8)
Additional information A N
. 3 B & D
Light points (Nas) - B 5 p
Floo
P. of machine 65 30 30 40
N(‘). of workers 2 3 6 2
Direct wages (%) 12,000 14000 18,000 8,000
Cost of machine R) 50,000 60,000 80,000 10,000
Working days = 200 days of 8 hours each.
Service rendercd by survice department S to production departments A, B and C is 30%, 20% and 50%
respectively.
You are required to calculate labour hour rate for each of the production departments. 15
9. A product passed through two processes P and Q. You are required (o prepare process P Alc, Process
Q Aic and Normal Loss A/c from the follwoing information : y .
Process P Process Q
z ]
Materials 60,000 6,000
Labour 20,000 24,000
QOverheads 14,000 17,200
Input (units) 40,000 35,000
Normal loss 10% 1%
Scrap value Gl g L
Output (units) 35,000 34,000
“There was 10 opening of ¢closing work in progress. 15
Or,
. (a) What is Ope-ating Cosung? Define composite cost unit with cxample. 142
~ (b) Mr. Sen runs a iempo in the town of Ranaghat. From the following data you arc required to compute
the cost per running k.an. 12
Supervisor’s salary per year 2 30,000; Driver’s

st of Vehicle ¢ 4,5¢,000. Road licence fee ¥ 1,500 p.a.;
per hour ¢ 40; Cost ol'fuelperlim:?36;'l'yleooﬂperlun.? 16.




